Der Umwelt zuliebe: Wir drucken auf 100% Altpapier!

KETTLER

Montageanleitung Tischtennistisch

»STOCKHOLM“
Art.-Nr. 7122-500, 7162-500

@ Tﬂlllﬁ-TﬁlllliS-TﬂllleS .0.UK

4T
N Y
N ____N
KETTLER

FREIZEIT MARKE KETTLER

SRVRCRCEVEC NG



Assembly Instructions

All Kettler products are designed in accordance with the latest safety regulations and undergo a constant process of quality control dur-
ing manufacturing. The knowledge gained in this process is used to constantly improve and develop our products. In order to offer our
customers the very best in product quality, we reserve the right to make technical changes at any time. In spite of this, should you have

any cause for complaint, please contact your Kettler dealer.

Note on Safety

W The tabletennis table should be used only for its intended pur-
pose, i.e. for playing with suitable table-tennis bats and balls.

& All other uses are prohibited and may be dangerous. The man-
ufacturer cannot be held liable for damage or injury caused by
improper use of the table.

® Damaged or worn components may endanger your safety or
shorten the lifespan of the tabletennis table. Replace worn or
damaged components immediately and remove the table from
use until this has been done. Use only spare parts manufac-
tured by Kettler.

® The table-tennis table complies with all safety regulations. In-
correct repairs, alterations to the design {removal of original
parts, addition of other components etc.) may endanger the
safety of the user.

B Instruct other persons (in particular children) using the table in

Handling the equipment

& Do not use the tabletennis table unfil it has been fully and cor-
rectly assembled and checked.

B Ensure that table-tennis tables which are not weatherproof are
not exposed to dampness or rain. Keep them well away from
direct sources of heat. Should the surface become warped, lay
the table on a level surface for a few days.

B Set the table up on a level surface.

@ Do not cover it with plastic foil, under which condensation may
form. We recommend the weatherproof Kettler tarpaulin, art.
no. 7032.

Instructions for Assembly

m The equipment must be assembled with due care by two adult
persons.

® Carefully read these mounting instructions before beginning
with the work itself. The individual steps are additionally ex-
plained in the sequenz of figures by means of symbols, in some
cases a text mark indicates that a written explanations is avail-

List of spare parts page 18 and 19

When ordering spare parts, always state the full article number,
spare-part number, the quantity required and the inspection num-
ber stamped on the bac(l.

Example order: Art. no. 7122-500 / spare-part no. 94608005
/ 2 pieces / inspection no......

Important: spare part prices do not include fastening material; if
fastening material (bolts, nuts, washers etc.) is required, this

its correct use, and draw their atfention to any potential source
of danger, especially when setting up or dismantling the table.

® When setting up or dismantling the table, stay clear of its fold-
ing radius.

® When folded up, the tabletennis table presents a large surface
to the wind. For this reason, ensure that it is stored in a shel-
tered position.

® The table-tennis table may be pushed only into the transport po-
sition (see p. 16, Fig. 1} because there is otherwise a danger
of injury.

& The unit complies with the standard DIN 7898-1/10.97.

# Depending on frequency of use, check dll screws, bolts etc.
regularly to ensure that they are in good condition.

E In case of enquiry, please contact your Kettler dealer.

® For practising without a partner, the table halves can be fold-
ed up singly.

® For more information on the sport of tabletennis, you are re-
ferred to the specialist literature on the subject.

@ Do not use corrosive or abrasive materials to clean the equip-
ment. Ensure that such materials are not allowed to pollute the en-
vironment. In most cases, a slightly dampened clotﬁ is sufficient.

& Please keep original packaging of this article, so that it may be
used for transport at a later date, if necessary

able. Strictly follow the individual mounting steps to ensure a
safe use and operation of the unit.

# To ensure that the table-tennis table is properly assembled and
can be safely used, observe the instructions for assembly ex-
actly.

should be clearly stated on the order by adding the words ,with
fastening material”.

KETTLER GB Ltd. - Kettler House, Merse Road - North Moons Moat - Red-
ditch, Worcestershire B98 9HL

KETTLER International Inc. - 1355, London Bridge Road - USA-Virginia
Beach, Virginia 23450

www.kettler.net



Checklist {contents of packaging)

2x
(7162-500)

2x

(7122-500)

4x M8x125 /w 4x M8x110 @/w 8x M8 ’
HINER120 7 dx M5x657 | 4x 12x M6
6x MBx6Q_7 [2x M6x58 5 | 38x 4xM5 ®
AxMéxa5 S [2x Méxd9 7 | 6x 4x M6 ©
6x 3,9x13 Ax m 2x

You dlso need the following tools {Not included):




Measuring help for screw connections

 28x39 ~ '
) ~ o@
! ‘
|

J

}

tilil!HtlmlhmlllllhlIII!IIIIIIN

. -

|m||m[unhmtmﬂnnl|m|1ln|nl!h:u|‘mll‘n'nllmlnulunluuluulnnlnn[un|u||lnnlnulnnlmdnu'
40 50 60 70..- . 80 “‘90‘ “"100 110 120 130 140 150 160 170




2x
@25

2x
M8

o) m—




1x

M8x110

4x
16

1x

M8x110

4x
216

M8




10






12



13



Ensure that it cannot slip or ilt over.

il

538 3
:

i

L

i

1

Dl
i iz
i

i

-

i

SRt
cho

fE Bo

i

i
i
B

iy

i}

mzsu’“‘fg
| :

i

i

L

=

i

- SHHRHEY,
!
e e

14



i

.

.
s

S :

e
S L i

L

AR

e

hat

i

Ll
L

it

i

S

i

cpaididiese - .

o

i
i

£

Ji .

S

-
it

i
Sl

.

e

"

s

5

i

=
i

L
-
:

5

0

kmw &
Eingk
abihn e S o
B s £ e

- e g e

i

i

a
e
i e fidiagi
i
i
St E

S

HRtdihiis Sraptadin
e

aan 8

S

i
f

e -
i i B
e
b i i

G

v
.

i
S

ST T
e

-

.

i

.

P

it
i

eE s L

i i T

Bido i

i
L

i
i
i

s

S

e

fE

e
ik
.
i
S S
| S
ot st %
i o o AhLiRh N
i . e
i S
S

15

1x
M6x58

A MQx
Mé6x120




Corry out steps 11-15 for the second half of the table. Again, ensure that the table cannot slip or tilt over!

Handling

16

Folding the table halves down:
press the lefthand tip lock and
turn the locking toggle into posi-
tion. Hold the table firmly with
one hand, press the righthand
lock and lower the table-half
slowly into position. Never allow
it to drop downl



g lever up and lift
wards. Continue

the table halves up:
P

ress the lockin
the table half u
press the lever during the first
part of the upward motion.

Folding
to

p

Ty

i
iaeiEnl
E.-..—-..

17




| 7162-500

500

7122

18



Ersatzteilliste :

FuBgestell mit Ovalstopfen

5 Stitzbiigel mit Rohrverbindern 2 Q4110778 94110794

11 Hebel (mit Sicherung) ‘ 2 94110381 94110381

94110781 94110781

Netzhalter kpl.

21 Zwischenstrebe mit Rohrverbindern 2 94110787 Q4110787

27 Adapter 2 70130520 70130520

94180145

Spannlasche

TT-Rad ohne Nocken

Geben Sie bitte bei Ersotzteilbestellun?en die vollstindige Artikelnummer, die Ersatzteilbestellnummer, die benétigte Stickzahl sowie die
auf der Riickseite dieser Anleitung aufgestempelte Konirollnummer an.

Bestellbeispiel: , Artikelnummer 7162-500/Ersatzteilnummer 94180145/2 Stick/Kontrollnummer. ..."

Wichtig: Zu verschraubende Ersatzteile werden grundsatzlich ohne Verschraubungsmaterial berechnet und geliefert. Falls Bedarf an ent-
sprechendem Verschraubungsmaterial besteht, ist dieses durch den Zusatz ,mit Verschraubungsmaterial” bei der Ersatzteilbestellung an-
zugeben. .

Heinz Kettler GmbH & Co. KG - Postfach 1020 - D-59463 Ense-Parsit
Kettler Austria GmbH . Elsenwang 119 - A-5322 Hof bei Salzburg ¢ Trisport AG - Im Bosch - CH-6331 Hiinenberg
www.kettler.net



	stockholm manual v2
	Stockholm (year 2002 - )



